## DELIN DEVELOPMENT AUTHORITY HORTICULTURE DIVISION NO. X

	NO F.16( 163 ) AVHort XVDDAV 2012 - 13/418 Date 28-2-13
	To.  Rio T-28/ Gay No. 8,  Karter Nagar  Delha 115053
	Sub: Mo Vanions Park (996,38 Aose MAT
	SH 875 of good everth conth Condung wanter Red Bayn jammes 810 Galvanised Steel Barbad wire & Spo Chemical Josh liz
	Ret Performance Security/Guarantee submitted by you vide your letter No dt
9	
	Dear Sir (s),
	Your quoted/ negotiated item rate tender for the above cited work has been accepted on off behalf of Delhi Development Authority at the rates, terms & condition given below-  1. Estt. Cost: Rs. 14 23 8 84 700 (Ks fourteen Leve twenty three thousand eight hundred eight four only).  2. Accepted Amount: RS. 15 08 767 20 (Ks. fifteen Lac eight thousand Seven hundred Sixty Seven only).
	Your quoted/ negotiated item rate tender for the above cited work has been accepted on obtional of Delhi Development Authority at the rates, terms & condition given below-  1. Estt. Cost : Rs. 14, 23, 884 700 (to fourteen den frenky three thousand eight hundred eight four only).  2. Accepted Amount: RS. 1508767 200 (ks. fifteen den light thousand)

issue of this letter failing which the award of work shall likely to be withdrawn amount of your earnest money and performance guarantee shall be forfeited

It may be noted that if any mistake/error in the nomenclature unit, rates of the item mentioned in the schedule attached occur inadvertently, it will not entitle for payment accordingly. The rates, unit and nomenclature will be taken as per provision of DSR 2007 for the purpose of payment.

You are also requested to contact the A.D. / Hort -X DDA and start the work at once, please note that the time allowed for carrying out the work as entered in the tender document shall be reckoned from the 10th day after the issue of this letter to commence the work. Your negotiation letter dated 22-2-13 shall also form part of the agreement.

> DY. DIRECTOR (HORT.) Hort. Division. No. X DDA

## Copy To:-

- 1. Director (Hort.) S.E., DDA
- 2. Commissioner Sales Tax, Work contract cell I.P. Estate, New Delhi.
- 3. Income Tax Office I.P. Estate, New Delhi.
- 4. The Labour Commissioner 15 Raj pur Road, Delhi.
- 5. Dy. Dir. (Hort.) QAC, DDA Vikas Sadan, New Dehli.
- 6. All Dy. Director/Jt. Dir. (Hort.) DDA
- 7. Sr. A.O./CAU(NZ)DDA.
- 8. A.A.O./Hort./DDA.
- 9. A-D(H) /Hort. X, he is directed to ensure the quality and quantity of work.

10. H.C./Hort. X

11.0/c

DY. DIRECTOR (HORT.)

HORT. DIVN. NO. X

D.D.A.

## DELHI DEVELOPMENT AUTHORITY HORT. DIVISION -X

Name of work: - M/O Various Park (296.38 Acre) Under NA-I. M/O Park and tree NR Ph. - I.

. Supply of R.H. Pipe, PVC Pipe, Supply of Ploythene bags {size 6" x9"} Supply of Galvanised Steel Bar Bad Wire and Supply of Chemical fertilizer etc. a sand] Supply of empty earthen pots; Removal malba, Painting, Proving and fixing of Precast Concrete Bench [Chair type] Supplying chemical emulsions of the control of the c Sub. Head. :- S/S of good earth, earth, Cow dung manure, Red Bajri, jamuna sand, carriage of Material i.e. [Good earth, earth, CDM, Red Bajri, jamuna

S.no

t	
ì	エノーモー・コー
0	_
1	Z
-	Ų
1	-
-	2
-	_
1	
1	OFITEMES
	ij
7	3
	5

(Good earth measured in stacks will be reduced by 20 % for payment)	Supplying and stacking of good earth at site including royalty and carriage with all leads and lifts.

- 1A carriage of Material {good earth} by manual labour including loa
- Supplying and stacking of earth at site including royalty and carr (Earth measured in stacks will be reduced by 20% for payment)
- 2A carriage of Material {Earth} by manual labour including loading
- 3 Supplying and stacking of Cow dung manure at site including roy lifts (Cow dung manure measured in stacks will be reduced by 8
- 3A carriage of Material {Cow dung manure} by manual labour includ 100 metres
- 4 Supply and stacking of Red Bajri at site by mechanical transport i unloading with all leads and lifts.
- 4A carriage of Material {Red Bajri} by manual labour including loadir
- Supplying and stacking of jamuna sand at site I/C royalty, carri leads and lifts.

		4	
88671.1	665.00	. 133.34 Cum.	
8			lage and loading /un loading for all
4040.1	57.00	70.88 Cum.	
77968.0	1100.00	70.88 Cum.	ing, unloading for lead up to 100
50327.5	65.00	774.27 Cum.	i/c royalty, carriage and loading
162596.7	210.00	774.27 Cum.	% for payment)  ding loading, unloading for lead up to
41062.5	75.00	547.50 Cum.	alty and carriage with all leads and
153300.0	280.00	547.50 Cum.	unloading for lead up to 100 metres
81339.	75.00	1084.53 Cum.	riage with all leads and lifts.
347049.	320.00	1084.53 Cum.	ment) ading, unloading for lead up to 100
AMOUI (F	RATE (Rs)	QUANTITY UNIT	id carriage with all leads and lifts.

	11 supply of R.H. Pipe double braded I S I. mark I S-444/87 Type-II, Water hose pipe 25 mm, dia working pressure 10.2 kg. F /cm2, at site.	10 Supplying chemical emulsion in sealed containers including delivery as specified. Chlorpyriphos concentrate of 20%	Seating height of the bench = 450mm.  Total height of the bench = 1000mm.  Front face of all planks shall be given special coating to make them water proof and glossy	reinforced concrete planks of in red colour size 1500 x 100 x 50mm and 1no of reinforced concrete planks of size 1500 x 200 x 50 mm.  All parts are joined together with galvanized nuts and bolts of suitable size.  All bolts are sealed after assembly seating length of the heach 1500mm.	9 Providing and fixing of Precast Concrete Bench [Chair type] with back rest manufactured by using M 30 grade of concrete & reinforced suitable to prevant damage during handling transportation, erection and long use. The bench consists of 2 nos. L-Shape base support in gray cement colour of thickness of 100mm.back height 1000mm.&front height 450mm base width 620mm and 5 nos.	8 Painting with enamel paint of approved brand and manufacture to give an even shade (one or more coat on old steel work),	7 Removal malba / garbage / building rubbish by mechanical transport I/C Carriage, Loading / unloading with all leads & lifts.	v [v]15 cm X 7 cm X 15 cm.	iv [iv]20 cm X 10 cm X 20 cm.	iii [iii] 25 cm. X 13cm. X 25cm.	ii [ii] 30cm. X 15cm. X. 30cm.	i Size [i] 30 cm. X 20cm. X 30cm.	Upper Dia x Bottam dia x Perpendicular height [Inner to inner] [outer to outer] [Top to bottom]	5A carriage of Material {jamuna sand} by manual labour including loading, unloading for lead up to 100 metres
300.00 Mtr.	200.00 Ltr.				20.00 Nos. Each	200.00 Cum. 777.00 Sqm.	1000.00 Nos. Each	1000.00 Nos. Each	1000.00 Nos. Each	1000.00 Nos. Each	1500.00 Nos. Each			133.34 Cum.
120.00	213.00				6950.00	90.00 38.00	11.00	13.00	20.00	25.00	29.00			75.00
36000.0	54315.0				139000.	18000. 29526.	11000.	13000.	20000.	25000.	43500			10000

	[A] Urea [IFFCO / KRIBHCO - Make] at site [ in 50 kg packing]	15 Supply of Chemical fertilizer at site. 3.00 al 6000.00			Cm.2 at site. 180.00 Mtr 80.00	80.00 100.00 6000.00	180.00 Mtr  100.00 P/kg quint 3.00 al	Cm.2 at site.  13 Supply of ploythene bags {size 6" x 9"} size 175 x 200 gauge at site  14 Supply of Galvanised steel Bar Bad wire at site  15 Supply of Chemical fertilizer at site.  [A] Urea [IFFCO / KRIBHCO – Make] at site [ in 50 kg packing]
--	---	---	--	--	--------------------------------	----------------------------	---------------------------------------	--

1440

1800

2077

1000

1900.00 39900 ₹. 1508760

Dy. Director (Hort.)
Horf. Diw-40 DDA